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Directions: Each of the Questions has four answer choices. for each of these Questions, select the best of the answer choice given.                                                                                                  
1. Jamil is 2 years older than Manzoor. The sum of their ages is 106. How old is Manzoor? 

a) 54

b) 52

c) 45

d) 53

2. Nauman bought a kurta-shalwar that was originally priced at Rs 680.00 (exclusive of sales tax). He used a 20% discount coupon, but had to pay 10% tax on the discounted purchase price. How much did Nauman actually pay for the kurta-shalwar? 

a) Rs. 512

b) Rs. 488
c) Rs  400
d) Rs. 598
3. Atif is eating a bag of candies. In the bag there are 5 red, 2 green, and 4 purple candies. What is the probability that Atif will pick a red candy, eat it, and then pick a green candy? 

a) 1/12

b) 1/11

c) 15/110

d) 10/121

4. In five years, Farhan read an average of 20 books per year. He read 23, 17, 20, and 19 books in four different years. How many books did Farhan read in the 5th year?  

a) 17

b) 20

c) 21

d) 19

5. Asad owns a stationary shop. The ratio of blue ballpoints to red ballpoints is 2 to 3. The ratio of black ballpoints to blue ballpoints is 1 to 2. If Asad has 51 red ballpoints how many black ballpoints does he have? 

a) 17

b) 20

c) 18

d) 19

6. In a group of children, 10 like Maths and 25 like English. 7 like both subjects and 17 like neither. How many children are there in the group? 

a) 59

b) 38

c) 25

d) 45

7. A card is drawn at random from an ordinary pack of playing cards. What is the probability that it is neither a face card nor a black card? ( A deck of cards has 26 Black and 26 Red Cards, there are 16 face cards, 8 Black and 8 Red)

a) 18/52

b) 14/52

c) 20/52

d) 10/52

8. What is the sum of the infinite series 1 + 1/2 + 1/4 + 1/8 + 1/16 + ... ? 

a) 1

b) 2

c) 3

d) Infinity

9. What is the slope of f(x) = x2 + 1 at x = 2? 

a) 2

b) 4

c) 1

d) Can't be determined

10. 2x + 3y = 19 and 6x - 3y = 21. Find x and y. 

a) (5,3)

b) (8,9)

c) (2,5)

d) (8,1)

11. Set R has 17 members while set S has 10 members. 4 members are common to both sets. How many members would be in the union of set R and set S? 

a) 27

b) 23

c) 31

d) 35

12. Which of these is not a prime number? 

a) 31

b) 111

c) 71

d) 97

13. How many roots does the equation “x4 + 6x3 - 8x2 + 10x + 88 = 0” have? 

a) 3

b) 4

c) 2

d) 1

14. In my class, there are 99 students other than me. 50 of us play cricket, 45 hockey and 50 play football. Only 15 of us play all three games. Everyone plays at least one game. How many play only two games? 

a) 30
b) 20

c) 10

d) Cannot be determined

15. 5!/3! equals

a) 5

b) 10

c) 20

d) 30

16. Taking digits 1, 2, 3, 4, and 5, how many different 5 digit numbers can be formed if you may not use the same digit twice in a number? 

a) 25

b) 120

c) 125

d) 100

17. If 2 2x-4 = 8, what is the value of x? 

a) 4

b) 7/2

c) 3

d) 5

18. If x1/2 + 271/3  = 6251/4, what is the value of x? 

a) 1

b) 4
c) 9
d) 16
19. If x2 - 3x + c = 0 has x = 4 as one of its roots, what is the second root? 

a) x = -1

b) x = -3

c) x = -4

d) x = -2

20. What is 12 raised to the power of 0? 

a) Infinity

b) 0

c) 1

d) 12

21. What is the derivative of (2x - 3y)2 with respect to x? 

a) 4(2x - 3y)

b) (2x - 3y)/4

c) 2(2x - 3y)

d) 8x - 3y

22. A mountain climber travels due East for 3 km and then due North for another 4 km to arrive at the base of a vertical cliff. He climbs up 4.9 km on the vertical cliff. What is the straight line distance between his start point and his finish point? 

a) 11.9 km
b) 9.9 km
c) 7.9 km
d) 7 km
23. What would be the volume of a cube that has an edge length of 8 mm? 

a) 512 mm squared

b) 512 mm cubed

c) 64 mm cubed

d) 64 mm squared

24. Mr Saud pays Rs. P, which is 10% less than Rs. 30,000 to buy a car. Mr Saud then sells the car to Mr. Turab for 10% more than this purchase price P. Mr Turab pays how much for the car?  

a) Rs. 30,000
b) Rs. 29,700
c) Rs. 33,000

d) Rs. 27,000
25. How many solutions are possible for 2x - 1 < 20, given that x is an odd number? 

a) infinite

b) 4

c) 5

d) 10

26. The population of a country doubles every 10 years. The population 80 years from now will be how many times bigger than the population this year? 

a) 128

b) 256

c) 64

d) 512

27. So far this year, Pakistan cricket team has played 30 games of cricket and has won only 6 of them. What is the minimum number of additional games the team must play (assuming no games have ended or will end in a draw), given that it will lose at least one third of them, so that for the year the team will have more games won than lost? 

a) 25

b) 57

c) 34

d) 87

28. If you randomly guessed the first two multiple choice questions in a quiz that had 4 choices for each question, what is the chance that you got them both wrong? 

a) 1/2

b) 3/4

c) 1/4

d) 9/16
29. What is the probability of throwing a sum of 7 on two dice? 

a) 7 over 36

b) 5 over 36

c) 1 over 6

d) 1 over 3

30. In a set of data what is the value in the very middle called? 

a) Median

b) Average

c) Mode

d) Mean

31. A plane flies from Karachi to Tehran and then back. The distance between the cities is 3500 km. The plane flies at 600 km per hour, but the wind is blowing at 100 km per hour so that its effective speed in 700 km/h in going to Tehran and 500 km/h in coming back. How much time is taken for the roundtrip?  

a) 700 minutes
b) 720 minutes
c) 680 minutes

d) 710 minutes

32. In how many ways can four people be seated around a circular table? 

a) 6

b) 4

c) 5

d) 8

33. In this 3 x 3 magic square, all rows, columns and diagonals sum to the same number 15. The three entries in the first row must be:
a) 7,6,2
	
	
	

	9
	5
	1

	4
	3
	8


b) 2,6,7
c) 6,2,7
d) 2,7,6
Answer: 2,7,6

34. A student received test grades of 100, 70, 80, 90, 60, 70, 80, 70, and 60 in a math class. What was her modal score? 

a) 80 

b) 85 

c) 75 

d) 70 

35. A square has a perimeter of 24 inches. What is the area of the square? 

a) 48 square inches 

b) 36 square inches 

c) 12 square inches 

d) 24 square inches 

36. In the Cartesian coordinate plane, a square is drawn with vertices (corners) at (-1,-1), 

(-1,+1),(+1,+1) and (+1,-1). A circle is drawn with center at the origin (0,0) such that both the square and the circle have the same area. What is the distance between the corner of the square (+1,+1) and the nearest point on the circle? 


[image: image1]
a) Sqrt(2) 

b) 1
c) 0.63 

d) 0.29
37. A salesman drives from Karachi to Multan (distance = 480km). The first half of the distance of his journey, he drives at a constant speed of 80 km/h. The second half of the distance of his journey, he drives at a constant speed of 120 km/h. What is the salesman's average speed for the complete journey? 

a) 100 km/h

b) 96 km/h

c) 92 km/h

d) 104 km/h

38. The second derivative of 
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d) The function does not have a second derivative

39. If y = x (ln x), find dy/dx 

a) (ln x)2 + x

b) 1 + ex
c) ex + 1
d) 1 + ln x

40. Find the minimum value of the function f(x,y) = x2+y2+2x-2y

a) -2

b) -1

c) 0

d) 1
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